DNI = DO NOT INSTALL

T T2

3 1 6 AINP 2043% 1 ANP R2

_I_ c2 o o AuF 4.99

J1uF R4

2 DNI 2 24.9 - o

- 155 L SSaINP sH2

o ° TP ————SSAINM SH2

6 1 3 4 N

WBC1-1TLB T WBC1-1TLB RS

R47 co o cs 24.9

0 e = 1 AN N 25& 1 ANM R6

L L_16v 116V 1UF 4.99

T3 T4

3 1 6 BINP 261 Bnw R8

Loz o3e Pt

2 DNI 2 ¢

- —gggwm SH2

o o 3 ————SSBINP SH2

WBC1-1TLB T WBC1-1TLB

Ra9 ci8 ékl’lz c17

0 £ £

AuF = AuF

L L_16v L_16v

e

I0VDD3.3V  10VDD3.3V

I10VDD3.3V  10VDD3.3V 10VDD3.3V

R42 R50

R51 R56 150 150

5.6K 5.6K DNI DNI B

u o

cr1 o

a4 e o | e vee L.0uF R57 SYNCINP ~ SH2

SYNCIN_SE r é ; 100 ggsw(:lNM SH2

1.0uF

RS8 VBB GND | CJ7L3

= 499 SNE5LVDS101DGK .

R52 .

R41 R43

= 56K 56K 150 150 |

D2

L—SSCLKINP SH2

HSMS-2812 ggg

onl —SSCLKINM - SH2

{i) | | A
= tle
Drawn: L Nguyen ize Document Number ev
- B ADS421B49/69EVM D
Engineer: J. Seton

Date: Thursday, March 14, 2013 Bheet 1 of 4
5 | 4 | 3 | 2 1




+5V_IN FPGA_SCLK SH3
1z P13 FPGA_SDI  SH3
FPGA_CSEL SH3
GND FPGA_SDO SH3
FBL R23
L F 0 D>R24
l 68 OHM @ 100MHz | -, _L cos oNi Sy 0 PR25 DBI10P SH3
c26 AUF N 4.7uF PN O Rgg o o
6 —-|_——1°“F €T _L_20v w DNI DB12M SH3
usB = = DB14P SH3
20 [0 0o X R26, 0 SCLK DB14M SH3
6 VBUS 75 16 5 R27, o SDATA
=< GND1  D- USBDM D1 g LKOUTP SH3
GND2 D+ ° LKOUTM SH3
8 lonos b [ j‘_ 15 1 yseop b2 |2 R28 SEN oALe S
GND4 GND J— c29
— 4TpF L 2730,: 41 veeio b3 X SDOUT AVDDLEV VDA14M SH3
USB_MINI_AB P 8) L2 ol DA12P SH3
AL2M SH3
= net . DRVDD1.8V Soatop Sy
= 12y ResET = )DALOM SH3
24y ne2 o6 [0 DRVDDLEV
2y osci o7 -8 B0 0 _L_algssssmmmmsss
[a)a):N o o o o o o [a]
B osco RxF 2 <DS’EQEE<§'"ES¢§§§S§D
17 | 22 L DndnBnga<<<<<Zn
3V30UT  TXE gnooooooxgoooooon
o o=
O
2? AGND rD 12 SH3 DB8 DB8M © DA8P fg ABP SH3
C31 75| GND SH3  DB8P. DB8P DABM [ ABM SH3
AuF 51 GND wR [ SH3  DB6M DB6M DAGP [75 AGP SH3
55| GND SH3 DB6P DB6P DAGM |71 A6M SH3
TEST PWREN [ SH3  DBAM DB4M DA4P |73 A4P SH3
FT245RC SH3 DB4P DB4P DA4M [—5 A4M SH3
= = o g e e s
- DB2P DA2M
SH3 DBOM DBOM ADS42LB49/69 DAOP ‘33 AOP SH3
SH3 DBOP DBOP DAOM |35 AOM SH3
“—5—| DRVDD AVDD 571
CNTRL2 ONTRLS Fa % CNTRL1
AVDD AVDD (359
SHL BINP = INBP INAP (371 AINP  SH1
SH1 BINM > INBM INAM 5= AINM  SH1
AVDD AVDD AVDD1.8V
> s >
8 = 5 E [a] o_> % % [a) 8
AVDD1.8V ofzzowcé&oﬁmzzoo
Socuwau>SSSowss>S>S
T DRVDD1.8V AVDD3.3V LHNNVNNELIOOI>ExnnII
DRVODLEV 9P3 R L
| - | i — | — | e CNTRL2 AVDD1.8V N| NN NN N (oo |m|
ca5 7| cae | car 7| cas | ca9 7| cs1 | cs2 | c100 | c102 1 R54 P4 )i
AUF =AuF o= .AuF 1F ——.IuF =.1uF 1WF -.AuF -.1uF 2 CNTRL2 1k TP2_ SCLK 1
;[ 16V (:l— 16V ‘:l— 16V (:[ 16V NT 16V ;[ 16V (:l— 16V T 16v [ 16v TP3 SDATA ? SYNGINM SH1
TPl SEN SCLK SYNCINP ~ SH1
T = (SHUNT2-3) SDOUT (P SDATA CLKINP iy
= SEN
(P SDOUT CLKINM  SH1
DRVDD1.8V ~ JP4 PS5
CNTRL1 DRVDDL8Y g VCMOUT
1 —_
2 CNTRL1 3 RESET VCMOUT
B3F-1002 " A e
= - 1uF
= (SHUNT 2-3) b o
*i) | |
itle
ize Document Number ev
B ADS421B49/69EVM D
PDate: Thursday, March 14, 2013 Bheet 2 of 4
5 | 4 | 3 | 2 1




SH2
SH2

SH2
SH2

SH2
SH2

SH2
SH2

SH2 DB10OP
SH2 DB10M

DB2P
DB2M

DB4P
DB4M

SH2 DB12P
SH2 DB12M

SH2 DB14P
SH2 DB14M

SH2 CLKOUTP
SH2 CLKOUTM

SH2
SH2

SH2
SH2

SH2
SH2

SH2
SH2

SH2
SH2

SH2
SH2

SH2
SH2

DA12P
DA12M

DA10P
DA10M

DA8BP
DASM

DA2P
DA2M

DAOP
DAOM

2
2 14
4 3
6|4 35
516 5>
—2s 7
—12 | 10 911
1 Yol
14 13 M5
6 [ 15—
o 18 17 g
2| 20 19 51—
22 21 55—
4 23
1 26 23738
DB6P T %8| 25 57
pB6M e | 28 L5
30 29
29 57
DBSP M 3lfas
DB8M - 33
35
35137
3739
39 a1
41 |3
U e > DBoP
45 73 DBOM
47 e |
49 g7 DAL4P
51 ga DA14M
53
55
55 25
57 29
— 59
oo [ 22
GND
QTH-060-01-F-D-A-RT1
J7B
sz || o1pes
64 63 [ee—
66 65
66 65
68 67
7o 68 67 6o
> 70 69 1
72 & g
74 73 (=
% M 57
80 | /8 T
80 79
82 81
84 | 82 811783
— 5 84 83
86 85
58] 86 85 g7
pAeP 188 g5 L1 g7 5L
DABM e 1 go 89
92 91
55192 M 953
DA4P L H g4 93 fge—
DA4M — 219 95
98 97
50| 98 97 g9
2 100 99 o1
| 102 101 o3~
104~ 103
106 105 g7
108 [ 107 [
109
111 3
113 PGA_SDO  SH2
115 PGA_CSEL SH2
117 Mg PGA_SDI  SH2
T PGA_SCLK  SH2
onD H2
GND

SH2
SH2

SH2
SH2

TEXAS INSTRUMENTS

*

itle
OUTPUT
ize Document Number ev
B ADS421B49/69EVM rD
- . I Date: Thursday, March 14, 2013 ileet 3 of 2




DNI = DO NOT INSTALL & o
2A
AVDD3.3V
@ 13
8 (@) 3.3V IN CSD17313Q2 A A 3.3V 1 ~~2
: o I 1w
= ] : Jom Lew Loe Tonen,
4| c1o1 co9 33uF T10uF T -LuF Tov oV
MBRB2515L 47uF 10uF 10V 6.3V 16V
) @ 10V N
o . o
GND L
u21 =
= %L N1 w2 — 10VDD3.3V
GND 4 )
2{NC3  GATE
= TPS2400
9 AVDDL.8V
FB2
~%9 8l 1.8V _IN 1~~-3
[ A B
ca1 NNm TN 50 2Rl caz Lcas LSO L Caa
10uF 209954 B 47UF + AuF
og = 16V
= g =
- ouT1 -
u4 NC1
R55 SENSE -
r\/o\/\, 6PAV2 R61
S 55> o5 OPAVL 0
sREzR DNI
aaa o
So-d0m
cs53
Lo T olol[ol  TPs7A4TOOL
9 DRVDD1.8V
FB3
J- ~ @ o ol R60 13
= L l l l
0 -
(1:0132 vo = 3%"2 of 29 T s cso ces c59
2 ul
ok =
2
= 5 [ =
i ouTL -
5 NC1 L
2 SENSE -
£ 6PAV2 [
— 6P4VL
DM 33293
aQa o
53506
c104
LouE T~ ol TPS7A47001

MECHANICAL PARTS

SCREW PANHEAD 4-40 x 3/8 SCREW PANHEAD 4-40 x 3/8 SCREW PANHEAD 4-40 x 3/8 SCREW PANHEAD 4-40 x 3/8

STANDOFF ALUM HEX 4-40 x .506TANDOFF ALUM HEX 4-40 x .SDANDOFF ALUM HEX 4-40 x .SI0ANDOFF ALUM HEX 4-40 x .500

POWER SUPPLIES

% TEXAS INSTRUMENTS

itle

ize Document Number ev
B ADS421B49/69EVM rD
- | - | - > Date: Thursday, March 14, 2013 hfet 4 of 4




